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Motor Vehicle Inspector, Grade-II[10.06.2018]  
Aptitude & Mental Ability Stepwise Explanation 

 
1. Find the number which when multiplied by 15 is increased by 196?  

a. 14   b. 20  c. 26   d. 28  
xU vz; 15-y; ngUf;fg;gLk; nghOJ 196 mjpfkhfpwJ vdpy; me;j vz;izf; 
fhz;f. 

a. 14   b. 20   c. 26   d. 28 

 

2. Simplify: 
3 3 2 2

2 22

a b a b

a ab b a b

 


  
 

a. a2 – ab + b2  b. a2 + ab + b2  c. a + b  d. a – b 

 RUf;Ff: 
3 3 2 2

2 2
.

2

a b a b

a ab b a b

 


  
 

a. a2 – ab + b2  b. a2 + ab + b2  c. a + b  d. a – b 
Solution: 

  
 

  
 

2 2

2 2

2

a b a ab b a b a b
a ab b

a ba b

    
   


 

 
3. Which term of the series 5, 8, 11, 14,______ is 320? 

a. 104th   b. 105th  c. 106th   d. 64th  
320 vd;gJ 5>8>11>14>…. vd;w thpirapd; vj;jidahtJ cWg;G? 

a. 104 tJ  b. 105 tJ  c. 106 tJ  d. 64 tJ 
Solution: 
Clearly, 5 + 3 = 8,   8 + 3 = 11,   11 + 3 = 14, .... 
So, the series is an A.P. in which a = 5 and d = 3. 
Let the nnumbers of terms be n. 
Then, 320 = 5 + (n - 1) * 3  or (n - 1) = 105 or  n = 106. 

 
4. What percent of 60 is 72? 

a. 80%             b. 120%  c. 84%  d. 65%  
60 vd;gjpd; vj;jid rjtPjk; 72 Mf ,Uf;f KbAk;. 
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a. 80%  b. 120%  c. 84%  d. 65% 
Solution: Let, Number be x. 

72 100
60 72 120

100 60

x
x


      

 
5. Ram can do a work in 15 day. Rahim is 50% more efficient than Ram. The 

number of days, Rahim will take to do the same piece of work is 
a. 7½  b. 10   c. 12      d. 14 
uhk; vd;gth; xU Ntiyia 15 ehl;fspy; Kbf;fpwhh;. u`Pk; vd;gth; uhk;-ia tpl 

50% tpiuthf Kbg;ghh; vdpy;> u`Pk; kl;Lk; jdpahf mNj Ntiyia vj;jid 
ehl;fspy; Kbg;ghh;? 

a. 7½   b. 10   c. 12    d. 14 
Solution: 
Let, Ram’s work efficiency = 100% 
 Rahim’s work efficiency = 150% 
Work Efficiency Ratio between Ram and Rahim = 2 : 3 
Days Ratio between  Ram and Rahim = 3 : 2    
Required: 3 : 2 : 15 : x 

  
3 15

10
2

x
x

    

Rahim complete a work in 10 days. 
 

6. If A: B = 5 : 7 and B : C = 6 : 11 then A : B : C is 
a. 55 : 77 : 66         b.  30 : 42 : 72 
c. 25 : 49 : 42    d.  30 : 42 : 77 

A : B = 5: 7 NkYk; B : C = 6 : 11 vdpy; A : B : C-d; kjpg;G 
a. 55 : 77 : 66    b. 30 : 42 : 72  
c. 25 : 49 : 42    d. 30 : 42 : 77 

 
 

7. 170% of 1140 = ? 
a. 1938   b. 1824  c. 1968         d. 1883 
1140-y; 170% vt;tsT? 

a. 1938   b. 1824  c. 1968 
Solution: 
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170
1140 1938

100
   

 
8. If the sum of a number and its square is 182. What is the number? 

a. 15         b. 26   c. 28  d. 13 
xU vz;Zld; mjd; th;f;fj;ijf; $l;bdhy; 182 fpilf;fpwJ vdpy; me;j vz; 
ahJ? 

a. 15   b. 26   c. 28   d. 13  

 
9. What is the HCF of a2b4 + 2a2b2 and (ab)7 – 4a2b9? 

a. ab   b. a2b2  c. a3b2  d. a2b2 
2 4 2 22 ,a b a b 7 2 9( ) 4ab a b  Mfpa vz;fspd; kp.ngh.t. (HCF) vd;d? 

a. ab   b. a2b3  c. a3b2  d. a2b2 
Solution: 

   2 2 2 2 7 5 2a b b +2 , a b a -4b  

HCF= 2 2a b  
 
10. The H.C.F. and L.C.M. of two numbers are 84 and 21 respectively. If the ratio 

of the two numbers is 1 : 4. Find the larger of the two numbers. 
a. 12   b. 48   c. 84          d. 108 
,U vz;fspd; kP.ngh.t. kw;Wk; kP.ngh.k. KiwNa 84> 21. me;j vz;fs; 1:4 vd;w 
tpfpjj;jpy; mike;Js;sd. vdpy; mtw;wpy; nghpa vz; vJ? 

a. 12   b. 48   c. 84   d. 108 

 
11. Find the area of a semi circle of radius 28 cm. 

a. 144cm2       b. 1220 cm2   c. 238 cm2  d. 1232 cm2 
Muk; 28 nr.kP. cila miu tl;lj;jpd; gug;gsT fhz; 

a. 144 r.nr.kP b. 1220 r.nr.kP  c. 238 r.nr.kP d. 1232 r.nr.k 
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2
222 28 28

1232
2 7 2

r
Area cm

 
     

 

12. Simplify 561 561) (31 31)

530

   
 
 

 

a. 530   b. 561   c. 31 × 31   d. 592  

RUf;Ff 
(561 561) (31 31)

530

   
 
   

a.530   b. 561  c. 31 × 31   d. 592 

Solution: 

  561 31 561 31 592 530
592

530 530

  
   

 
13. If a : b : : 3: 5 and b : c : : 7 : 2 then a:b:c is 

a.  3: 35:10             b. 21 : 35 : 10  c. 21 : 5 : 10  d. 21: 35 : 2 
a : b :: 3 : 5 kw;Wk; b : c :: 7 : 2 vdpy; a:b:c 
a. 3 : 35 : 10  b. 21 : 35 : 10  c. 21 : 5 : 10  
Solution: 

 
a : b : c = 21 : 35 : 10 
 

14. The ratio of 9 months to 1 year is 
a. 2 : 3   b. 3 : 4  c. 4 : 5    d. 5 : 6 
xU tUlj;jpy; 9 khjq;fspd; tpfpjj;ij fz;Lgpb 

a. 2 : 3  b. 3 : 4  c. 4 : 5   d. 5 : 6 

Solution: 
9 Months to 12 Months = 3 : 4 
 

15. If three numbers arc 2a, 5a, 7a. What will be their LCM? 
a. 70 a    b. 65 a  c. 75 a    d. 70 a 
2a, 5a, 7a vd;w %d;W vz;fspd; kPr;rpW nghJ tF vz; vJ? 

a. 70 a  b. 65 a  c. 75 a  d. 70 a3 
Solution: 

 Required LCM = a x 2 x 5 x 7 = 70a 
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16. A trader buys air article for Ra. 1,200 and marks it 30% above the C.P. He 
then sells it after allowing a discount of 20%. Find the profit percent. 
a. 5%   b. 4½ %  c. 4%     d. 6% 
xU tpahghhp xU nghUis &.1>200 thq;fpdhh;. gpd;G mjd; mlf;ftpiyf;F Nky; 

30% Fwpj;j tpiyf;F 20% js;Sgb nfhLf;fpwhh;. tpw;w tpiyapd; yhgk; % 
vd;d? 

a. 5%   b. 4 ½ %  c. 4%    d. 6% 

 

                                        
17. 12 men can do a piece of work in 24 days. How many days-are needed to 

complete the work, if 8 men do this work? 
a. 28    36   c. 48  d. 52 
xU Ntiyia 12 kdpjh;fs; Nrh;e;J 24 ehl;fspy; Kbf;fpd;wdh;. mNj Ntiyia 8 
kdpjh;fs; Nrh;e;J Kbf;f vj;jid ehl;fs; MFk;? 

a. 28   b. 36   c. 48  d. 52 
Solution: 
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12×24
=36days

8  
 

18. A sum of money at simple interest amounts to RS. 815 in 3 years and to 854 in 
4 years. The sum is 
a.  Rs. 650     b. Rs. 690  c. Rs. 698    d. Rs. 700 
xU njhif jdptl;bapy; 3 tUlj;jpy; &.815 MfpwJ. mJNt> 4 tUlj;jpy; &. 854 
MfpwJ vd;why;  me;j njhif vt;tsT? 

a. Rs. 650     b. Rs. 690  c. Rs. 698    
Explanation: 
S.I. for 1 year = Rs. (854 - 815) = Rs. 39. 
S.I. for 3 years = Rs.(39 x 3) = Rs. 117. 

 Principal = Rs. (815 - 117) = Rs. 698. 
 

19. The G.C.D. of a3 b4, ab5c2, a2b7c.  
a. ab4   b. a2b4  c. a4c   d. a2c4 
a3 b4, ab5c2, a2b7c. -d; kP.ngh.t – vd;gJ. 
a. ab4   b. a2b4  c. a4c   d. a2c4 
Solution: 

HCF = 
4ab    [Hint: Common factor and Smallest Power] 

 
20. Simple interest for an amount is Ra. 120 at 6% per annum for two years. 

What is the amount, if the simple interest is Rs. 90 at the same rate of interest 
for 3 years? 
a. 1000    b. 1500  c. 500    d. 750 
xU njhiff;F> 6% tl;b tPjj;jpy; 2 Mz;LfSf;F jdp tl;b &.120 MfpwJ. 
mNj tl;b tPfpjj;jpy; %d;W Mz;LfSf;F jdptl;b &.90 vdpy; njhif vt;tsT. 

a. 1000    b. 1500  c. 500    d. 750 
Explanation: 

P N R 3 6
S.I= 90 500

100 100

P
P

   
     

 

21. If 
4

5

a

b
  and 

15

16

b

c
  find the value of 

2 2

2 2

c a

c a




 

a. 
7

25
   b. 

7

24
   c. 

6

25
   d. 

3

25
   

4

5

a

b
  kw;Wk;

 

15

16

b

c
  vdpy; 

2 2

2 2

c a

c a




d; kjpg;ghdJ 

a. 

7

25    b. 

7

24    c. 

6

25    d. 

3

25    
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2 2

2 2

4 15 3

5 16 4

16 9 7

16 9 25

a b

b c

c a

c a

   


 

 

 

 
22. The number divisible by 9 is 

a. 18736804  b.  833G0715 c. 446790139  d. 14681439 
9 vd;w vz;zhy; tFglf; $ba vz; 

a. 18736804  b.  833G0715 c. 446790139  d. 14681439 
Explanation: 
A number is divisible by 9 if the sum of its digits is divisible by 9 
Ans: D: 1+4+6+8+1+4+3+9=36      3 +6=9    

 
23. A 4 cm. cube is cut into 1 cm. cubes. The total surface area of all the small 

cube is 
a. 96 cm2 b. 24cm2  c. 384 cm3      d. 284 cm2 
4 nr.kP cila fd rJukhdJ 1 nr.kP cila rpwpa fd rJuq;fshf 
ntl;lg;gLfpwJ vdpy; rpwpa fd rJuq;fspd; nkhj;j gug;G ahJ? 

a. 96 cm2 b. 24cm2  c. 384 cm3      d. 284 cm2 

Solution: 
Given that side of a big cube = 4 cm 
Volume of a big cube = 4 x 4 x4 = 64 cm3 . 
Each side of a small cube = 1 cm 
Volume of a small cube = 1 x1 x1 = 1 cm3 
Total Surface Area of small cube = 6 x 1 x 1 = 6 cm2 
Number of new cubes = 64 / 1 = 64 
∴ Total Surface Area of all small cubes = 64 x 6 = 384 cm2 

 

24. Simplify: 
 171 171) (69 69

240

   
 
 

 

a. 102      b. 240    c. 171          d. 69 

RUf;F 
 171 171) (69 69

240

   
 
 

 

a. 102      b. 240    c. 171          d. 69 

Explanation: 

  171 69 171 69 240 102
102

240 240

  
   

 
25. Find the L.C.M of 72, 108 and 2100 
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a. 37,800   b. 2,100  c. 36,600     d. 28,400 
kP.ngh.k fhz;. 72> 108 kw;Wk; 2100 

a. 37,800   b. 2,100  c. 36,600     d. 28,400 
Explanation: 
Required LCM  

 


